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	1) Fill in the missing numbers.
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......... rows of .........  .........
	[1]  

	2) Complete the multiplication table:

      
	 
	6
	4
	7

	2
	
	
	

	9
	
	
	

	4
	
	
	




	[1]  

	3) Write the missing numbers in the sequence
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	[1]  

	4) Work out 
     a) 
	 
	 
	46

	 
	 
	72

	 
	 
	____

	 
	 
	





     b)      2   6   100     .........
     c)      9.9   10     .........
	[3]  

	5) Use the grid method to work out 864   49
	 
	800
	60
	4

	40
	
	
	

	9
	
	
	



	Answer =
		







     
	[1]  

	6) Multiply 792 by 9     .........


     
	[1]  

	7) Complete the number sentence.

           800 = 8   ......... = .........  10
	[1]  

	8) Read the number shown on the scale     .........
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	[1]  

	9) A theatre has 42 rows of 56 people.
How many people are there?     .........

     
	[1]  

	10) Using the number line, start at 5 and make three jumps of 5.
Which number do you finish on? .........
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	[1]  



Solutions for the assessment Mixed multiplication
	1) 6 rows of 6 = 36

	2) 
12,8,14
54,36,63
24,16,28


	3) 8 and 16

	

	4)  a) 3312
	     b) 1200

	     c) 99
	5) 34560   7776   42336


	6) 7128

	7) 100, 80


	8) 160

	9) 42   56 = 2352


	10) 20
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